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—-— Hranica bytovych priestorov

Balkény

Obytny priestor
Skladovy priestor

_egenda schéematu

Komunikacny priestor

Socialne zazemie

Spoloc¢né priestory

. Spolocny priestor, kuchyna

Legenda miestnosti 4.NP - Cast' B
c.m. N&zov miestnosti Plocha
4.01B Chodba+schodisko 18.52 m?
4.02B Vytah 3.06 m2
4.03B Chodba 8.06 m?
4.04B WC 2.32 m2
4.05B Klpeliia 6.53 m2
4.06B Obyvacia izba+kuchyna 35.68 m?
4.07B Chodba 11.56 m2
4.08B Izba 18.48 m?
4.09B Izba 20.58 m?
4.10B Izba 18.62 m2
4.11B Satnik 3.10m?
4.12B Klpelfia+WC 3.76 m2
4.13B Balkdn 7715 m?
4.14B Balkén 7715 m?
304.57 m2

4 NP — ¢ast B
1:100
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